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Sccond Semester BUE,

GBESISGHEN
|

Mathematics - Il for CSE Stream

BMATS201

/B.Tech. Degree Examination, Junc/July 2024

Max. Marks: 100

Time: 3 hrs,
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. M : Marks, L: Bloom's level , C: Course vutcomes.
3. VTU Hand book is permitted.

[ Module = | M| L] C
Q.1 By XYY 7 | L2 | CO1
Evaluate ” jc‘“-‘"”dzdydx '
00 0
4a 2Vav 7 L3 COl1
By changing the order of integration evaluate J j ~xydydx .
0 x’_lda.
’ I 6 |L2|cCol
With usual notation, prove that F(EJ = \/E ol
0R~-
Q.2 s ooy BN ' 7 | L3|CO1
Evaluate _[ .[ y* ,fx +y,‘d)idy by changmg mfo polar coordmates
0 0 v
Find the arca bounded between the parabolas y* = 4ax and x* = 4ay by | 7 | L2 | COl
double integration.
Using Mathemducal tool write the code to find the volume bounded by the | 6 | L3 | COS
sphere Xty +z% = a’ by doublc integration.
\ Module 2
Q.3 Find the directional dmvallvc ol'd) =xy + yz at'the point (2, -1, 1) inthe [ 7 | L2 | CO2
direction of the vector i+ 2J+ 2k. ¢
)'J 7 | L2 | CO2
Verify whether lhc vector F = is both solenoidal and irrotational.
Tyl
Prove that the cylindrical coordinate system is orthogonal. 6 | L2 | CO2
OR
Q4 If F=V(x’+y’ +2’ - 3xyz) find divF and curl F. 7|L2|CO2
Find the angle between the normal’s to the surface x°yz = 1 at the points | 7 | L3 | CO2
(-1, 1, Dand(1,-1,-1).
Using mathematical tool write the code to find divergence and curl of the | 6 L3
vector F=(4xy - 2)i + 2x%j-3x2’k . el 0‘0%
1 of3 /“
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BMATS201
Module -3
Q.5 Let W be a subsct of V3(R) consisting of vectors of the form (a, a°, b) where | 7 | L2 | CO3
the second component is the squarc of the first. Is W a subspace of V3(R).
Let P, be the vector space of real polynomial functions of degree < n. |7 | L2 | CO3
Verify that the transformation T : P, — P, defined by T(ax® + bx + c) =
(a+b) x + cis linear.
Find the Kernel and range of the linear transfommtlon T:R* >R’ deﬁned 6 |L2 | CO3
by T(x, y,2) = (x+ Y, 2).
OR’
Q.6 Dctermine whether or not each of the following x; = (2, 2, 1) x2=(1,3,7,| 7 | L2 | CO3
x3 =(1, 2, 3) forms a basis in R*
Verify Rank-nullity theorcm for the transformation T * R® —» R’ defined by | 7 | L2 | CO3
T(x,y,2)=(x+2y—2z,y+2z x+y-22). :
The inner product of the polynomials fit) =.t+ 2, g(t) =3t -2 inp(t) is | 6 |L2 | CO3
1
given by <f, g>= [f()g()dt. Find i) <fg> i) |f] iiD) [g]
0
Module — 4
Q.7 ] ’ Find an approximate root of the equation cosx = 3x — | correct to four | 7 | L2 | CO4
decimal places using Regula Falsi method between 0.5 and 0.7.
(e’
The arca ‘A’ of a circle of! d:ameter ‘d’ is given by.the following table 7 | L2 [ CO4
d: | 80 | 85 | 90 . 95 | 100 -~
A:] 5026 | 5674 | 6362 7088 | 7854 %,
Using appropriate Newton’s interpolation formula for equnspaced values of
x, find arca of the circle corresponding to the diameter 105,
: od 6 |L3 | CO4
EmhMel-j4 dxbySmmwnsU3 rule by considering 10 sub
X+5
intervals. Hence find an apprommatc value of log5.
OR
Q.8 Find the real root of-x log,, x =1.2 correct to four decimals that lics ncar | 7 | L2 | CO4
2.5 using Newton Raphson method. .,
Fit a polynomial for the following data using Newton’s divided difference | 7 | L2 | CO4
formula:
x| -4 |-1[{0f2] 5
y: [ 12451331519 1335
; % e , ) 6 |L3|CO4
Use trapezoidal rule to find Ie “dx by taking seven ordinates.
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5= T BMATS201
T Medwle-s
Q.9 [ a. | Employ Taylor's series method to obtin approximate solution at x = 0.1 | 7 | 1.2 | CO4
and x = 0.2 tor the initial value problem %’i =2y +3c', y(0) =0,
dx
b, 7.-\;\|\I.\“' Runge-Kutta method of fourth order to find an approximate solution |7 | L2 | CO4
atx = 0.1 given gx=3x+y/2,y(0)=l. -
X
c. | Apply Milne’s predictor — corrector method to solve thc cquation [ 6 | L2 | CO4
(' + Ddy - xdx = 0 at x = 1_given y(0) = 1, y(0.25) = 1.0026,
v(0.5) = 1.0206, y(0.75) = 1.0679.
OR
Q.10 [ a. | Apply modified Euler’s method to find solution at x = 0.1°by taking h=0.1 7 L2 | CO4
giveny = x>+ y, y(0) =0. h
dy y'-x? ) 7 | L2 | CO4
b. | Find an approximate solution of —= =——,y(0)=1 at x = 0.2 using
' dx y £x%
Runge-Kutta method of order four.
N, 7 ; / . |6 |L3|CO5
€. | Writc the,mathematical tool code 0" solve dy. =x?+yy(0) = 10 using
) dnk‘?’ dx N
Taylor’s series method at x = 0,1?0.1)0.3. Consider the terms upto fourth
degree. A -V Q.
* k k & &
b Y
e
s e
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First/Sccond Semester B.E/B.Tech. Degree E xuminution, .
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Applied Physics for CSE Stream

Max. Marks:

Note: 1. Answer any FIVE full questions, clmosfng ONE Sull question from each module.

2. M : Marks, L: Bloom’s level , C: Cnur\c uulwmcs‘ Ve

BPHYS102/202

June/July 2024

100

3. VTU Hand book is permitted. . Y

| of 2

Module — 1 M|L| C
Q.1 [ a. | Explain the construction and working of scmiconductor LASER wnh ancat| 9 [ L2 | COl
sketch and cnergy level diagram, 2
b. | Discuss different types ofopucal fibers based on modes of prOpaganon and | 6 | L2 | COl
RI profile.
c. | An optical fiber has refractive mdcx of core and cladding ofl 55 and 1.50, |5 | L3 | COS5
| respectively. Calculate ns numerical aperture and angle of acceptance if it is
kept in air. ) \;-\;H
: OR - r
Q.2 | a. | Obtain the cxprcsmon for energy d(,nblty of radldllon in term of Einstein’s | 8 | L2 | CO1
A and B coefficients.
b. | Define numerical aperture and denvc an expxessnon for numencal aperture | 7 | L2 | CO1
of anoptical fiber.
¢. | In“azdiffraction grating cxpen enmhc Laser light undérgocs first order | § | L3 | COS
diffraction at an angle of 193 Fmd the wa;g}en "of Laser light.
= o 3
Given the grating constantd 1 98 10"°m. ﬁg«{fj ; Q
Module — 2 :
Q.3 [ a. [ Setup one dimensional time independent Schrodinger wave equation. 8§ |L2]| CO
b. | State Heisenberg's uncertainty principle and apply the same: to prove the | 7 [ L2 | CO
non-existence of free electron inside the nucleus.
¢. | An electron is bound in an infinite potential well of width 0, 18nm Findits| § | L3 | CO2
energy values in the first two alloWed energy states. &
R, 7 i Vv 70OR B
Q.4 [ a. | Obtain an expression for Elben function and Flgcn energy values fora| 9 [ L2 | CO2
pamcle in an infinite po!uma] well of width ‘a’.”
b, [+What is wave function? Mention the properﬂes of wave function and give [ 6 | L2 | CO2
N.ifs significance. ¢ .
¢ | Calculate the kmetlc energy of a ncutron in eV. Given: de —Broglic wave | 5 | L3 | CO2
lengthis 1 Aand mass of neutron,; mn =1.674 x 107'Kg.
A \\‘
Module -3
Q.5 | a. | Distinguish between classical computing and Quantum computing. 6 | L2 ]| CO2
b. | Explain the CNOT gate and:its operation on four different input statcs. 6 | L2 | CO2
¢. | Apply Pauli matrices on'the state [0> and |1>, 8 | L3|CO2
¢ OR
Q.6 | a. | Explain the working of T-gate mentioning its matrix representation and | 7 | L2 | CO2
truth table.
b. | Explain Orlhogunalnty and Orthonormality with an example of each. 8 | L2 | CO2




BPHYS102/202

“"

¢ | A Tincar operator *X" operates such that X[0> = 10> and X|I> 4[>, Find | 5 [ L3 | CO2
1 the matrix representation of * X', p »
- Module - 4
Q.7 ]Mumon the failures of classical free clectron lllcofy and cxplain the | 7 | L2 | CO3
assumptions of Quantum fice clectron theory of metals.
b. | Explain Meissner's effect and  the vurmhon of critical ficld with | 8 | L2 | CO3
temperature. B
c. | A lead wire has a critical ficld of 6.5 wi‘ A/m at 0 Kelvin. The crmcal 5| L3|CO3
temperature is 7.18K. At what tcmpcraturc the critical field will- drop to
4.5 x 10°A/m. \ oy ,,
»OR
Q.8 | a. | Define Fermi factor and/ explam the variation of Fcrml factor with [ 8 [ L2 [ CO3
| temperature and energy. w 2 S
b. | Differentiate Type — I afnd . Type — II superconductorss, 8 | L2 | CO3
c. | Calculate the probabjlity of occupation of an energy”’ “level 0.02eV above | 4 | L3 | CO3
level at temperature 27°C. N
=N y
= ¢ Module — 5
Q.9 | a. | Explain the, lmponance of (i) size and scale and (i) weight and strength, in | 7 | L2 { CO4
animation. ¥
b. | Mention the general pattern ofMome “Carlo method and hence explainthe | 8 | L2 | CO4
procedure to find the value of ‘n’s. ™
c. | In thé-case of animating a Jump, the jump height.is% 25m and jump | 5 | L3 | CO5
magnification is 5. Calculate the push height and push acceleration. Given
gravitational acccleration is 10ms. Y B
&Y D W
g OR &«
Q.10 | a. | Describe jumping and’parts of jump. % b d e 9 | L2 | CO4
b. | Distinguish between descriptive and inferential statics. & Va 6 | L2 | CO4
c. [Ona pamcular ‘Place, volcanic eru ttou occurs once in every *100yearson | § | L3 | COS
an average. Calculate the probabl[ﬁ"y of volcanic cruption in a 100 years
interval for K =0, | and 2, assummg ‘the Poisson’s model appropriate.
¢ % _\¥
,,1;-,‘;“4 ) < g"} kKKK K \1~3 g
AN .
5 e 43
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First/Second Semester B.E/B. Tech, Degree

Time: 3 hrs, -
Note: 1. Answer any FIVE full questions, choosing ONE Sull question from each module.

6 B

™
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Principles of Programrqlqg using C

“

2 M : Marks , L: Bloom®s level, C: € ‘ourse outcomes.

e

-

N Brorsi03/203

Cxu;'t.nl‘h‘aillun, June/July 2024

A ' Max. Marks: 100

—— Nt [MIL L C_
Q1 [ a. | Define Computer. Explain the variou§ fypes of computcr. fo} L2} COIl
.“ b Explain the basic structures of C'program in detail. Write a s-"!“lﬂc program | 10 | 1.2 co?
| ( to demonstrate the components in the structure of C program.-
. OR ,
Q.2 | a. | Explain scanfl ) and printf{.) functions in C lang ';':gc with syntax and | 08 | L2 CcO2
cxample. ' .
@ b. | What is variable? ‘Explain rules for constructing variable in C. Give | 06 | L2 | CO2
example for valid and invalid variable. 4)
c. | Nlustrate the flowchart and writc a C program'which takes as input p, t, v | 06 | L2 | CO2
compute the simple interest and display result.
Module -2 _
Q.3 [a. | Explain the following operators in *C’:: Y 08 | L2 | CO2
i) Relational i) Logical __iifyConditional __iv) Bitwisc.
b. | Explain for loop statement with syntax and exampleprogram. .. |06]|L2|CO2
c. | Write a C program to simulatc simple calculatorithat’ performs arithimetic | 06 | L2 | CO3
operations using switch statement. Error message.should be displayed if
} any attempt is made to divide by zcro. ~
% OR (P07 Y
Q.4 | a. [ Explain if, if-clsc, nested if and cascaded if-€lsc statements with’syntax and | 08 | L2 | cCo2
example. ¢’ i =
b. | Write a C program that takes three c efficient (a, b, ¢) fo calculate roots of | 06 | L2 | COS
quadratic equation, print all possible roots with appropriate messages for a
set of cocfficients. A7’ Y
c. | Explain break and continue statements with respect while, do-while and for | 06 | L2 | CO2
loops. 't Do <)
G Y Module -3
Q.5 | a. | Define function. Explain categories of user defined functions. 10 | L2 [ CO4
b. Dcfm'c two-fjimcnsior_l array. Write a,C ‘program to multiply 2 matrix by | 10 | L2 | CO3
ensuring their mulriplication compatibility.
' “OR
Q.6 | a. | Explain function call, function definition and function prototype with | 10| L2 | CO4
syntax and example for each,
b. | Write a C program to implement Binary scarch for integers. 05| L2 CO3
c. Wbat 1S Rc?urswn? Write-a C program to compute factorial of number | 05 | L2 | CO3
using recursion. .,
; &Y Module - 4
Q.7 : 3::‘_'"_9E‘[L{'li-)?’.‘l".“il‘.“.’.‘)’ﬁiu_f1’.‘!’&!Qi}ll_ipyl_zl!i_ng functions with example. | 10 [ L2 | CO3
. fu:é:iu: bi’wptr(u;;'mm to concatenate two strings without using built-in | 05 | L2 | CO3
c. | Explain string unformatted input/output functions with example, j—f/‘“‘ 05 \L2 | CO3
O lof2 ' &'(CENTRAL \
| "\ Lorary))F )
\®) £/




BPOPS103/203
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OR M,
Q.8 [a. | Define pointer. Explain pointer variable declaration and ||1|t|'ﬂ|2'1t|on with | 08 | L2 | CO3
suitable example. o,
b. | Explain pass by value and pass by address with example ¢ 04| L2 | CO3
A
¢c. | Write a C program using pointers to comprﬁte sum, mean, standard | 08 | L2 | CO3
deviation of all elements stored in an array of w rcal numbers.
- i\/
Module =5
Q.9 | a. | Explain structure declaration and how? structure member are accesscd w1th 10| L2 | CO3
cxample. 1V P
b. | Implement a structure to read, writet and compute average marks and the | 10 | L3 | COS
students scoring above and be!ow average of class N students*
':3-;“'; — OR _)‘?’i':} ‘
Q.10 | a. | Compare between structdté and union with syntax aridve&ample. 06| L2 | CO3
b. | Explain fopen( ), felose( ), fscanf{ ) and fpnntf( y thh syntax and example 10| L2 | CO4
program consndermg all above functions. &, ¥
. -
b \"f’
c. | What are gmﬁhefation variable? How are.they declared? 04| L2 | CO3

’ 2 of2
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BESCK204D/BESCKD204

Sceond Semester B.E/B Tech, Degree Exambiation, Junce/July 2024

Introduction to Mechanical Engineering

Max. Marks:

Note: 1. Answer any FIVE full questions, choasing ONE full question fmm_ each module.

100

840 o

e 7

9\ 2

2. M : Marhy , L: Bloom's level , C: C(»r:r.tfi‘014101rnves. 4 9
i — Module-1 = ML ]
Q.1 |a. “With a ncat sketch explain the working principle of Nuclear Power.Plant. 10| L2 | cot |
b. | Write a short note on the following: i) Global Warming ii) Ozonc Depletion | 10 | L2 | CO1 |
L OR PN
Q.2 |a. “Elucidate the emerging trends‘and technologies in the following sectors: 08 | L2 | COl
i) Manufacturing sector ii) Encrgy sector =
b. | With a neat sketch cxplain the working principle of Hydro Power Plant. 08| L2 | COI
c. | What is the rolc of mechanical enginecring in Industries and Socicty? 04 | L1 | COl
Module - 2
Q.3 [a. | What is CNC? Explain the basic components$ of CNC machine with a ncat 10| L1 | CO2
sketch. “ o~ L2
b. | List diffcrent, opcrations that can be performed on Lathe Machine and [ 10 | L1 | CO2
cxplain the following with a ncat sketeh: i) Tuming i) Knurling L2
N\ OR” L
Q.4 | a. | List the operations that are performed on Drilling machi e’and explain the [ 10 | L1 | CO2
below: i) Boring __iiy Drilling MN.% o L2
b. | List the advantages and applications of CNC. 7%, v &% |06|L1|CO2
¢. | Write a short note on 3D printing. 4 S 04| L2 | CO2
Module -3,
Q.5 | a. | With a ncat sketch cxplain the working princjple of 4 stroke petrol cngine 10 | L2 CO3
along with P.V. diagram. fo. ® iy
b. | Explain the components of Electric and Hybrid vehicle with a neat sketch. | 10 | L2 co3
. OR*’ A
Q.6 | a.| With a neat sketch explain the working principle ©of 4 stroke Cl engine | 10 | L2 CcOo3
along with P.V diagram. s 15 g
b. | Discuss the concept of Electric and Hybrid~ vehicles. Also list the | 10| L2 | CO3
advantages and disadvantages of EVs and Hybrid vehicles.
. . ¢~ Module—4."

Q.7 | a. | Classify engineering materials. 04| L2 | CO4
b. | Differentiate between Soldering, Brazing and Welding. 10| L2 | CO4
¢. | Write a short note on Diamond and Silica materials. 06| L2 | CO4

3 OR

Q.8 | a. [ Explain the working principle of Electric Arc Welding with a neatsketch. |10 | L2 | CO4
b. | Explain different types of Flames used in Gas welding. 06| L2 | CO4
¢. | Write a short note on Shape. Memory Alloys. 04 | L2 | CO4

Module -5
0.9 [a.| Define Automation. Explain the types of automation. 10 | L1 | COS5
\ L2
b. | With an example explain open and closed loop mechatronic system. 10| L2 | COS
‘ OR
Q.10 [ a. | Define loT and explain the characteristics of loT. 10| L1 | COS
N G———— L2
b. | Explain the functional blocks of lT with a ncat sketch. qﬂ\\ﬁff’!q} 10| L2 | COS
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Sccond Semester B.E./B. Tech. Degree I xmnlnntloﬁ. Junce/July 2024
Introduction to Internet of Thlngs (107T)

y

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, (Iwusing 'ONE Sull question fram each module.

2. M : Marks, L: Bloom 's level , C: Cmme oftcomes. ',
Module-—l 7 |MIL (‘_]
Q.1 Classify the network types based o physical topologics and conncction 10| L2 | co1 |

|typcs with schematic diagram. ¢ %)
Q i !‘. '.;'

h. 'th a ncat diagram, cxplmn thc interdependency tcchnology for 10T | 10| L2 | CO!1

planes. v
&, % OR PN
Q.2 [a. | With neat diagram, explam the network commumuatlon between two hosts | 10 | L2 | CO1
following OSI model

3

b. | Explain the, mlcrdependcncncs and reach: of 1oT over various application | 10 | L2 | COl
domams and networking paradxgms

B,

¢
e - Module 2 Y
Q3 | a. | Outliné the basic differences bcfwccn transducers, sensors ‘and actuators. 6 | L2 | CO2
& P 4
b. | Explain the major factors mﬂuence the choice of.sensors in [oT bafed 8§ | L2 | CO2
sensing applications. _ - o
¢. | Define Sensor and cxplam the charactcn:tlcs of Sensor. o 6 | L1 | CO1
OR. =

Q4 | a. | Classify the sensor basedon : )% l}'o‘yvér requirements ji) Sensor output | 10 | L2 co2
iii) Power to be measured. = £

&8, (S
\ & . L %

,4.‘ ‘-e-. 4 v;, f.‘,‘ ‘r
b. Class1fy Sensing types on, the Jnature of the environment and the physical | 10 | L2 | CO2
SENSOrs. N ¢
= { ; ;"’ 2y
e A Module - 3%~
Q.5 |a.’| Explain loT devnce dcsng,n and sclcctlon considerations. 10| L2 | CO2

A

b. | What are the paramucrs considered, for off loading the data and identify [ 10 | L2 | CO2
typical datg omoad locations avallable in context of IoT.

£ OR

Q.6 [ a. | Explain event detection? usmg onsite . offsite remote processing topology | 10 | L2 | CO2
and collaborative proccssing technology.

b. ] Classify thc data’ bascd on how they can be accessed and stored and the | 10 | L2 Co2
| importance ofprocessmg, of loT.

Tof2
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Module — 4
Q.7 |a. ! Explain the classification of virtualization bascd on the requirements of the | 6 | L2 co2
‘uscr. KalS
| Lk
b. \ Explain diffcrent types of cloud modcl. e 10| L2 | CO1
£ \
C. ‘What is SLA and mention its metrics. "'i}, 4 | L2 | CO2
*
OR = o/ s
Q8 |a. | What are the advantages of virtualization?,¥ .«‘?ﬁ’é-’ 10| L2 | CO1
v :
b. | Explain different types of cloud simulators with its features. 10| L2 | COl
#= ‘Module - § i
Q.9 | a. | Explain the different components of health care IoT. > 10| L2 | CO1
AN L%
b. | Explain the architectyre and advantages of vehiculat loT. 10(L2 | CO2
R’ e
OR &
Q.10 | a. | What is Machine,Learning? What are theadvantages and challenges of | 10 | L2 | CO2
Machine Learping? R
i N, \r’
b. | What ar¢ the advantages and risk of};ealth care 1oT? 10| L2 | CO2
“x {.%m
¥
'i‘. o /
%
z 4
&
4 ' 2 0f2
'w’
a0
-
o
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hccnnd Semester B.E/B. Tech, Degree B xandl ut?lm, Junc/July 2024
Introduction to Cyber(bpcurlty

Time: 3 hrs, '“{\ Max. Marks: 100
Note: 1. Answer any FIVE full questions, dmmMi ONE full question from each module.
2. M : Marks, L: Bloom's level , C: CJFIrsc utcomes. (?
£ h ¥
Module 1’ an” IM|L C
Q.1 [a. [ What is Cyber Crime? Explain cyber\swcc and cyber squatting.  » 6| L2|CO1
A
b. | Who arc cyber criminals? D1~.(‘.l‘!l 3 tlfc three group of cyber cﬂn}]nnh 8 | L2 |COl
{ “l. n'
¢. | What is cyber defamation? bxiﬂam in detail. @ 6 |L2 | col
N\ A
(R OR )Y
Q.2 | a. | List and explain cla;sf ication of cyber crimes. 10| L2 | CO1
v / v
b. [ Explain the hackmg and the Indian lavw&dﬁder Indian ITA 2000 cyber | 10 [ L2 | COl
crimes. "x\e’ "n-l 4
S )
x‘iq,}‘ Module - 2
Q3 |a. | Listand explain different categorieg of cyber crime. I‘@’ 6 | L2 | CO2
b. Brlcﬂy explain any six ti sd‘or effective sear JR“Goog]e” segh 6 |L2 | CO2
engine. ;55‘ f‘%
€y 3 - ‘n
c. | Explain soc:alcngmccnng w:th its clasmf'cahqn, . 8 |L2 | CO2
o ( ‘r 1':2‘;6 )
),.:,L OR ¢ v .;‘ S
Q.4 |a. | Briefly explain phases involved in Plaﬁnxngacyber crime. \ ~ai 10| L3 | CO2
s‘- 1 £
b. | How Bomets create busmess’hExplam how to securc thc system by using | 10 | L3 | CO2
bomets. 4 oy, V¥
ol »-f,.{{i?’ N:ﬁ’
' L"i-:"f Module -3 _ ¢
QS |a. nIWhat is phishing? Explaxp how it works. é‘“«.;f 6 | L2 [ CO3
’x‘ A 2Ny
b. | “What are the purpp‘s:é“s of proxy servers? ™~ 6 |L2 | CO3
R/ o
c. | Explain dlderc)m ways of passwoia Bracking. 8§ |L2 (CO3
/7‘
7 . OR
Q.6 | a. | What are viruses and woniy? Explain different types of viruses. 10| L2 | CO3
by
b. | Discuss different types of DOS attacks. 6 [L2 [CO3
7
c. | What is Stcgangg'r‘&phyi Mention some tools. 4 |12 |CO3
)V
1 of2
4
N
Ay 4




BETCK2051/ BETCKI205
- Module-4___ 5T
Q.7 | a. | Discuss about phishing techniques used by phishers to ladpch phishing | 10 | L2 | CO4
attacks. (¥, Y
{ % 4
b. | Bricfly explain various types of identity thefl tcchyi\qug?. 10| L2 | CO4
- OR S
Q.8 | a. | Explain various typcs of phishing scams. s, e ~ 10| L2 | CO4
b. | Bricfly explain four diffcrent methods of ﬁﬁishing. /‘.f»'-;-‘/ 10| L2 | CO4
e e
2 &
Module - 5 P
Q.9 | a. | llustrate digital Forensics life ¢ycle/ ~5-,$'¢ 10 | L3 | COS
T ) Ay
b. | Discuss about the steps E‘qvo(l‘vea in solving a computer forensics case. 10| L3 | COS
AN 43
Co OR %7
Q.10 | a. | Explain chain of custody concept. 10| L2 | COS5
[N2) ?
b. | Briefly explaifi netWork forensics. Hgy 5 [L2 | COs5
c. Explain&wgat";is RFC2822. 5 |L2 | COS
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PN
. The important parts'of an exsay are :

xé—uim—hucm\wam\umw—unm

’ .
Directions : Change the voice of the following sentences 3, v, !
You nced to clean your shoes properly. ,.\.,,,, W
2)  Your shoes are needed to clean properly. Fa y
b)  You are needed to clean your shoes properly Ay,
¢) Your shoes need to be cleancd properly . m_

d) Your shoes are needed by you to clean Eo?a_w.

James watt discovered the encrgy of steam. ﬂi A
2) The energy of steam discovered James, watt

b) The energy of steam was n__m..cenhma by James watt.
¢) Jamcs watt discovering the encrgyof stcam o~
d) James watt had been discov na—  energy by the steam R
Directions : Convert the _.cw.ﬂ‘-:n sentences from Q._dﬁ to Indirect speech :

Y
“1 am sorry”™, he said. & P ~
2) He apologized that hie was sorry b) lmn nz& that he was 10 be sorry
¢) He demanded that he was sorry 5 >= of these
U:.!..,..eaa : U,.w-n,.nw.dn-z_ : e
,A

A sentence that introduces the topic of the main idea to the -mwa.ma is called.

a) Topic sentence : b) First un._»ﬁxa

¢) Both‘a’ and b’ y d) Nopeof these Q5
o LA Y

A paragraph which is s::ﬁ-nn_. analyzing a situauon is called, A,

a) Descriptive paragraph , b .?E._u:nn_ vsn_w_.uvr

c) Nustrative paragraph 4) marative uwaniv__

B .li aw,

e. b) Body . ¢

v

2) ——E.oa:n:o: 4

¢) Conclusiph’ J 4..{- d) Allof _raz.
N v o\
~ isagist ofany vwn«nmo written in as few words as possible.
a) Essaywriting N b) ~ Precis writing
<) #ﬂ!ﬁ.ﬁ_ writing W & “None of these

Which amuong the folfowing is not a feature of reports?
a) Focuses on facts and data «) b) lswritten for a specific purpose

¢) Inchudes irrelevagt information -~ " d) lsstructured in an organized way
Repons ﬁrrr are submitted at regolar intervals is called,

a) Routine repornt ~ b) Penodic report

¢) Both'a'and ‘b’ - d) None of these

A technical repont establishes a,

a) ogkal conclusion

b) logical conclusion
¢) personal prejudice

d) musplaced leaming

Q VerA-3of$
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29,

30.

31

32

33.

34.
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36.

37.

38.

39.
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is drafted in response to an advertisement or uan?..
a) Solicited proposal b) Unsoliczed proposal
c) Both *a’ and ‘b’ d) None of &D,n
Childhood is a time when there are
child good parents, he is fed, looked

cspomibilities to make life difficult. Ifa

“ and loved.
a) many, had, up b) . few, has, after N
¢) little, have, at 5 all of these ay
o
Listening is a vital skill which helps in n.__l_.a.:m our learning. P
a) True 73 b) False I\,
)JJ L ,J....

Which among the following are oﬂdﬂm to listening?

a) Forged attention o b) Poor interpersonal relations
c) Premature evaluation %%

e @) Allofthese

Which among the following should not be .:..v_o.:n:-ﬂ_ »:. effective listening?

a) Having an open mind'y S?ZQ. being prejudiced

¢) Employing n_.—:n-m?—:rss &. Pn::m irrelevant questions
A business _rna :En be, i

a) written in proper format 43 b) shortand concise

c) politedq tone - s od) Al o-...vn«n A

The date on a business letter mro___a appear after the E!B-BP

a) True R b) ?ww >

This format of the letter -Ew _—a beading, nan_SP tomplementary n_cmE.n and signature
right aligned. a J

a) Block format %) 5 E.oEE ».o::..:

) Modified block format j& None of these™*

Which among the following is not .14?» faentioned in a aE:n..
a) Educational qualification 3 VY b) Work'experience

c) m:gmaﬁv o g d) iﬂwu@wﬂ

P )4 .
The format of resume lists your work .58..« with dates, with your most recent
enmplayer and job title FAK, first. Y
a) ‘Historical = _b) Functional
c) Q_:Eo_om.nu_ % r.g S All of these

\ ad

BCC inan nn:___.e?_.v to: o
a) British council careers b) Blind carbon copy
¢) Booked carbon copy N d) None of these

Y
Ny

The cover letter is written,
a) To introduce oneself as the suitable candidate for the job.
b) To give c.ow:.vr;u— ‘details of the candidate.
¢) To try for :.:2.:
d) To let the n:é_cwn., know of our writing skills
<)
.;,..«J VerA-def$
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Journcy mappng is also called mapping A
a) Path b) Experience ¢) Conduct = 7 d) Feedback

Which of the following are not tools of design thinking?

) Co creation b) Proto typing ¢) Mind mapping
%

Which design thinking phase is closely related 0 the creation of an minimum viable

product (MVP)? & )

d) Online mapping

2) Empathize b) Prototype n,w E,ean d) Test
Which one is the minimum viable product?’ ey
5 b
{9 AR
%% [
c)Bothaand b > d) None of these

How can the theory and practice of design thinking work togcther?
a) Theory provides a.set of rules to follow, while practice ensures the rules are applied
effectively. 07 P

b) Theory and practice are two separate peocesses that do not overlap.

¢) Theory. provides a framework for creative problem solving, while practice develops
the skillsand knowledge to apply the framework effectively.

d) Theory and practice are interchangeable and can be used ‘in any order.

What is cxpericnce design in the context of design ..m_x ing?
a) The process of designing physical products and services.

. be
b) The process of desizning digital interfaces aod imteractions. 4%
¢) The process of designing bolistic c.x?iﬁ:,nnm for users across all touch points.
d) Nonc of these o~ w.cw 4 o~
. N

What is standardization in the context of design thinking? wt
2) The process of creating standardized design solutions. ;

b) The process of following a standard set of design principles.
¢) The process of establishing standards for design processes and methodologies.
d) None of these . 5

[ b Lt

What is humanization in the context of desigu thinking?

2) The process of marking designs more human centered and empathetic.
b) The process of making designs more technically advanced.

¢) The process of making designs more acsthetically pleasing.

d) None of these,

How can a creative culture be fastened in the design thinking process?
2) By encouraging nisk-takipg and experimentation

b) By establishiny rigid design processes and guide lines

¢) By prioritizing cost effectiveness over innovation

d) None of these .

-
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“7d) User testing and feedback analysis. ~4

33

34
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What are some common tools and techniques used in rapid prototyping?
a) Sketching, wire framing and paper prototyping

b) 3D printing, laser cutting and CNC machining \

¢) User research, market analysis and competitive analysis

d) None of these .,

How can a business model be designed using .._m!.w: thinking?

a) By identifying customer needs and pain points and designing solutions that address
them. Yy A\

b) By following a sct of established business practices and industry standards.

¢) By prioritizing cost effective over customer value.

d) None of these < L o %

- ™ L
Which phase is referred to uw,u_vn%nn,_:ﬁau_ phase where ¢ontinuous terations can take
place? (Y -
a) Define by Empathise

) Prototype d) None of these

E—Er..:ﬁ.n_._.::mnmSmr.mn_.:xcﬁ_ﬂonao..iﬂosiu mo‘.:.?.:mgsavnvin
final solution? (%> Q
a) Convergent thinking “.b) Divergent thinking

muwc._,umi__u

¢) Nonc of these

Desiga thinking is typically used to v-o«&n a solution based approach w problem solving
a) True's i 7 b) False

Can design thinking be applied in professions ch,Hn.,m.w design?

a) True 8, b) Falsc ..

y

How can real time interaction and E_wmw.mmf,ﬂanmuuﬁa into the design process?
a) By conducting user rescarch and testing atthe end of the design process only.
b) By eliminating :wﬂ feedback and relying solely on persaml preferences.

¢) By analyzing market trends and saks data only.

d) By incorporating user feedback throughout the entire design process.

What are some common tools used in the empathy phasc of design thinking?
1) Persona development and user interviews i

b) Brain storming and weation sessions
¢) Sketching and prototyping

%,
T

What is the role of émpathy in desiga thinking in [T?

a) To undetstand the needs and chatienges of IT users and stake holders.

b) To create visually appealing IT products and services.

¢) To ensure compliance with industry standards and regulations.

d) To increase profits for thd [T organization.

What is the importancg of prototyping in design thinking in m?

a) To test and refw@1T products and services before lunch

b) To show case YT capabilities stake holders.

¢) To impress user with cutting edge technology.

d) To ensure compliance with industry standards amd regulations.
O

«
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k1]

3

2

3

M

3s

Boy

a) =i b) =i . c) = iii
Son

a)=i b) = ii c)«iy
Sweet )

a =i b) =i Y B ]

Translate the following Kannada words into English,

MagaLu

a) Son b) Mother ¢) Daughter
Kappu 3aNNa :

a) Black color .b) Redd color ¢) White color
Obba Vidyarthi

8) One Teacher b) One Servant ¢) One Brother

Translate the following English words into Kannada.

Book :

a) Buk b) Pustaka c) Byog

Her House 3

a) Ivala Manc b) Avala Manc ¢) Avana Manc
Big Tree ) .

8) Chikka Mara b) doDDa Mara ¢) Agal.a Mara

BKBKK1077207

dy~iv
dy=v

dy ey

d) Sister
d) Gireen color

¢) One Student.

d) pencil
d) Adara Mane

d) SaNNa Mara

Write the Kannada vocabulary for the ?:.??n English words,

Who

a) Enu b) Eke c) Yoaru
This i

a) Idu b) Adu ¢)Avu
She

a) avanu v.,-c-_x: ¢)avaru
s

a) avanage b) aval.u ¢) avana
When ____

a) Yaaru b) Hege ¢) Esw

Ver-D =3 of4

d) Elli

d) v

d) Ivaru

d) Nanage

d) Yavaga

36

ki

38

39

41

42

43

45

46

47

43

49

50

BKBKK107/207

Write appropriate words for the following :

Where

a) ELLi b) Yaake ¢) Yaary d) Est
Teacher

) GeLathi b) Shikshaka . ©) Vidyarti d) Huduga
Girl ’ )

a) Huduga b) Mitra c) Hudugi d) Snchita
Bitter _____ S

a) Sihi b) Uppu "%, ¢) Kahi t. % d)Kham
Library ’

a) Shale b) <E«nr~w$ ¢) AngaDi d) Granthalaya
Write the English Word for the following :~

Manc ; .
1) Hotel b) House " ¢)Shop d) Street
Marna &, ‘
a) Tree b)Leal \ c)Flower = d)Fruit
Maga ot a
a) Father b) Mother ¢) Uncle d) Sea
Ara N
a) Younger Brother  b) Elder Brother €) Mother d) Elder Sister
HaNNu Sy ; v
a) Fruit % b)Flower % c)Seed d) Plant

.n..n.:_u..o, the following English sentence .__,...a Kannada sentence.

Who -.P.w.c:... Y

a) Naanu Yaaru b) -«-r: Yaaru
What is your name? /3,
a) Ninna Hesaru Enu?

.e) niinu Yasru d) adu Yaaru

b) Naina Hesaru Enu

¢) ldara Hesaru Enp? : d) Aval.a Hesaru Enu
P 4 N
Where is your House? 3 Y
a) Avanu Manc Elli Ide? b) Ninna Manc Elli l¢?
¢) AvaLa Manc Elli lde? y d) Adara Mane Elli l¢?
Who is he? oy
a) Adu Yaaru? b) Avanu Yaaru? ¢) [du Yaaru? d) ldu EIi?
Where is your younger sister?
a) Ninna Tamma Elb lddale? b) Ninna Akka Elli lddake?
¢) Ninna Tangi EHi 1ddale? d) Ninna Anna Elli lddale?
I X RN ]
Ver-D-4of4
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Lol aired B3R 33dabd) weednd Sdde0md FeddauIa?
a) tenod b) Jgg Bodd, ¢) SdEd d) onxdch.

TRd wRans ¥38dn Ywasd DIBOI?
sl b) 33 c)

d) IRk,
BRI LRSI et AT SRIW?
2) S b) ran - o) 3 d)8d.
SITBTIv clrRas e RITIHZHR?
2 o b) v =0y, d) Peasrt
Sudlavrt Ty dridedon B A8 3930307
2) Beddrerieledd b) womeridesd
) dedoarided) d) Szegded.
5470 53, 900 83, and? _
2) 303 b) sozady ¢) ua3g d) BoBe.
Bbric B33 2o —— Sowwd dreend? )
2) BTF ~b) o3 ©.7 c)doz W des.
20000 Texd SURAV o33 dreh?
2) Gemed "~ b) du
c) ruZezs d) g%odd ddov.
B22E0 Bod, Tov) b e SedrREach aaeh?
2) ZOCSTIRD . b) 838D
c) bzl d) 3DV BoeFD.
£t o Belrlaodh BRI dedizav?
.23 b) 28z
)z d)rian.

Ver-A 3of6

27.

28.

29,

30.

3L

32

33.

34.

BKSKK107/207

83 wedab Odabal, OSAV o och 8IS airdy?

2) Tdeesd ealy b) D33 LT

¢) e wacd ) aRd g,

etbArt VIS cred?

2) 3nIT b) Db Vabeh

¢) 22FTNIZ d) alnd ey
#ere0 Redd B3RS 20 alnds?

a) Bdogy by 2decd, ¢) 8333 Haas.
©3030 tibaAr ©IdTS wedd, codd FWB3ID alrech?

a) BV 20¢3 ) b) ddody

(8.8 4 d)meudews daod d3aleh
b Rath T3y8, BTFUS coth ST 2D 3 ~mr,

a) 1973 b) 1964, ¢) 1955 d) 1947,
F. 0. u&@a&uu& JUBDT ez 633 F2Y ARID?
SEAY . \ bysoaedn
o) e, deledn ¢ U wds o

BIFUE BEHOT 6OVE e ARe?

n83a’ b) 3w | o) dord dBod.
BRFUET THETRA Anh?

“d@ed L < b) tortued
gmomg - d) PBVma,

3s.

36.

o3 bbwav 3O BRLTARACD ~-nn riSH.

a) 233d b) 3e3IFS ¢) JUS 3333

wu Hed3 Swgn 8 alnd ey awo JUadnhd

a)@orfeod T by @y ) 903 d) odedmn.
Ver- A d4of6
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